
SAP ABAP table V_TWWKA {Generated Table for View}

V_TWWKA

MANDT [CLNT (3)]

WKART [CHAR (4)]

EKERV [CHAR (2)]

VKERV [CHAR (2)]

WWAER [CUKY (5)]

KURST [CHAR (4)]

VKLIV [CHAR (2)]

T000

MANDT [CLNT (3)]
 V_TWWKA-MANDT = T000-MANDT 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]
 V_TWWKA-WWAER = TCURC-WAERS 0..N

0..N

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 V_TWWKA-KURST = TCURV-KURST 
0..N

0..N

TWEV

MANDT [CLNT (3)]

KAPPL [CHAR (2)]

EKERV [CHAR (2)]

 V_TWWKA-EKERV = TWEV-EKERV 

0..N

0..N

 V_TWWKA-VKERV = TWEV-EKERV 

0..N

0..N

TWST

MANDT [CLNT (3)]

LIVAR [CHAR (2)]

 V_TWWKA-VKLIV = TWST-LIVAR 

0..N

1


